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For all numerical answers on this quiz - simplify as much as possible, but leave your answers in exact form
{with sguare roots if applicable). Rationalize all denominators, if applicable.

1. Givan the vactors below, draw each. Inyour drawings make sure to label sach vector so that it’s clear which is

yaLr answear.
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¢l Drawprojzil  [2 pts] d) Drawvectar 7 such that m - i is negative, [2 pts]

LY

W III | .llll(

2. Given: @={3,2 —1)and b = (=215},
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a) Findd+B [2pts] bl Findi-b [2pts]
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4. Given the 3D points P4, 6, -2) and Q{1, -7, 5), - i N
g1 Write a vector equation of line PO, [3 pts]
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y b) Useyour vactor equation from part (a) to find the paint whara line PQ intersects the x-z plang. [1-pt]—
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4. Graphaach set of parametric equations. [2 ptz each]

a) x(t) = _':J"E_{' yit) =% b} x(t) = cos(t) ; y(t) = —sin {t) g) x(t) = Zeos(t) ; ¥(t) =sin ()
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x(t) = 4 sin(mt) =
y(t) =t*
t:[-1, 3] '
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a)' State the domain and range of the graph. [1 aach)] B | '\‘% ] '11"

\ L Pk W -

“  Domain; =* i b
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b) Graphthe equations on the xy axis to the right. ; 1 TVEs
Clearly label numbers on your axes, and choose an !
gppropriate scale so that you can fitthe entire graph - ——
into the grid provided. [3 pts] /L
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i |I c) Ellr‘l'l|l'1 ate the parameter to wrlm@a a function ot y. [2 pta]
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6. Andy is trying to solve the following math problem:
“Brock Purdy throws the football at an angle of 20 degreas with the horizontal, with a valacity of 30 feat per
second. Ifthe ballis released at 5 faet high, what Is the helght of the football at 0.8 seconds after it is released 7™
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In &ndy's work, he writes: height = —16(0.8)* + 30(0.8) + 5
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.ﬁ.ndy & work contains an error. Circle his mistake, and then write the number and/or expression that shauld
replace his incorract alament. [2 pts]



